
Variables: Algebraic Expressions III (E-2)
CHALLENGE

Name:

Time: Score: /

225)

((5x− 0y)− 0y × 10y × (70y ÷ 10)÷ ((4y × 3))) =

226)

(((10y − 0x + 0y))) + y + 9y + 0x + (4y − 4y) =

227)

((9y − 0y ÷ (8y + y + (8x÷ 8)) + x)) + 5x =

228)

(((7x− 0x÷ (9x÷ 3)))) + 5x× (4× 8÷ 4) =

229)

(((10x÷ 10) + y)− y) + (8y − 5y)− 0y ÷ (6x) =

230)

8y × 1 + (12x÷ 4) + (((8x + x)÷ (3x− 0y))) =

231)

(((49y ÷ 7− 7y) + 4x− x)) + (5y − 0x + 8y) =

232)

(((5x− 5x + 5x− 0x + 7y))) + (((10y − 4y)− 3y)) =

Mathematics: Variables - Level 4 - Expressions - Set 2 30 © workulum.com

https://www.workulum.com

